WEEKLEY ASPHALT PAVING, INC. 👔	First Offer - \$7,500.00	1 / each	\$7,500.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e :	·
Hardrives, Inc.	First Offer - \$7,650.00	1 / each	\$7,650.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Marks Brothers Inc.	First Offer - \$7,740.00	1 / each	\$7,740.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Tamrio, LLC	First Offer - \$8,000.00	1 / each	\$8,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	·
JVA Engineering Contractor, Inc.	First Offer - \$8,000.00	1 / each	\$8,000.00	Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC. 🧝	First Offer - \$4.25	150 / each	\$637.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
TRIPLE R PAVING, INC. [Ad]	First Offer - \$4.32	150 / each	\$648.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		
Solo Construction & Eng	First Offer - \$6.00	150 / each	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FHP Tectonics Corp. [Ad]	First Offer - \$6.50	150 / each	\$975.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Hardrives, Inc.	First Offer - \$7.00	150 / each	\$1,050.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Marks Brothers Inc.	First Offer - \$7.50	150 / each	\$1,125.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Tamrio, LLC	First Offer - \$7.50	150 / each	\$1,125.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
JMS Construction Services	First Offer - \$7.50	150 / each	\$1,125.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			_
JVA Engineering Contractor, Inc.	First Offer - \$8.00	150 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier Totals

JMS Const	ruction Services			\$449,125.00	(26/26 items)
Bid Contact	Freddy Perez freddy.perez@jmspaving.com Ph 954-797-7710	Address	4420 Peters Road Plantation, FL 33317		
Agency Note	9S:	Supplier	Notes:		
Solo Const	ruction & Eng			\$477,827.50	(26/26 items)

p. 15

	Ph 305-345-8600	Miami, FL 33179
Agency Note		Supplier Notes:
	AVING, INC. [Ad]	\$513,561.168 (26/26 item
Bid Contact	PATRICIA FUCCILE pjfuccile@rrrpaving.com Ph 954-792-4205	Address 3328 SW 46TH AVENUE FORT LAUDERDALE, FL 33314
Agency Note	s:	Supplier Notes:
Hardrives, I	nc.	\$577,829.9585 (26/26 item
Bid Contact	Edward Williams ed@hardrivespaving.com Ph 561-278-0456	Address 2101 S. Congress Ave. Delray Beach, FL 33445
Bid Bond	(Status: Authorized on Jun 10, 2015)	
Agency Note	s:	Supplier Notes:
FHP Tecton	ics Corp. [Ad]	\$591,235.00 (26/26 item
Bid Contact	David Roy droy@fhpaschen.com Ph 305-940-0264 Fax 305-940-0265	Address 2 South Federal Highway Dania Beach, FL 33004
Bid Bond	(Status: Authorized on Jun 10, 2015)	
Agency Note	s:	Supplier Notes:
WEEKLEY A	ASPHALT PAVING, INC.	\$593,554.64 (26/26 item
Bid Contact	June Stone june@weekleyasp.com Ph 954-680-8005 Fax 954-680-8671	Address 20701 STIRLING RD PEMBROKE PINES, FL 33332
Bid Bond	(Status: Authorized on Jun 2, 2015)	
Agency Note	s:	Supplier Notes:
Marks Brot	hers Inc.	\$672,313.00 (26/26 item
Bid Contact	Mark Meyers mark@marksbrothersinc.com Ph 305-805-6900	Address 9455 NW 104th Street Medley, FL 33178
Bid Bond	(Status: The owner assigned contractor	r number from the bond does not match the supplier identifier.)
Agency Note	s:	Supplier Notes:
JVA Engine	ering Contractor, Inc.	\$676,342.00 (26/26 item
Bid Contact	Maria G. Gutierrez mgg@jvaengineering.com Ph 305-696-7902	Address 6600 NW 32nd Avenue Miami, FL 33147
Bid Bond	(Status: The owner assigned contractor	r number from the bond does not match the supplier identifier.)
Agency Note	s:	Supplier Notes:
Tamrio, LLC		\$688,715.35 (26/26 item
Bid Contact	Elizam Rios erios@tamrio.com Ph 787-805-4120	Address PO Box 613721 Miami, FL 33261
Bid Notes	The bid bond was already hand delivered Division, 100 North Andrews Avenue, Roo	in a sealed envelope to the Finance Department/Procurement Services m 619, Fort Lauderdale, FL 33301·1016.
Agency Note	· · · · · · · · · · · · · · · · · · ·	Supplier Notes: The bid bond was already hand delivered in a sealed envelop to the Finance Department/Procurement Services Division, 10 North Andrews Avenue, Room 619, Fort Lauderdale, FL 3330 1016.

JMS Construction Services

Bid Contact Freddy Perez freddy.perez@jmspaving.com
Ph 954-797-7710

Address **4420 Peters Road** Plantation, FL 33317

Item #	Line Item	Notes	Unit Price	Qty/Unit		Attch. Do
253-1145601-01	BASE BID TOTAL: Insurance	Supplier Product Code:	First Offer · \$3,250.00	1 / lump sum	\$3,250.00	٢
253-1145601-02	BASE BID TOTAL: Surety/Performance and Payment Bond	Product	First Offer - \$6,275.00	1 / lump sum	\$6,275.00	Y Y
253-1145601-03	BASE BID TOTAL: Mobilization	Supplier Product Code:	First Offer - \$21,772.00	1 / lump sum	\$21,772.00	١
253-1145601-04	BASE BID TOTAL: Maintenance of Air Operations Area Traffic	Supplier Product Code:	First Offer · \$2,069.00	1 / lump sum	\$2,069.00	Y
253-1145601-05	BASE BID TOTAL: Temporary Fence for Owl/Tortoise Nests	Supplier Product Code:	First Offer · \$1,215.00	10 / each	\$12,150.00	Y
253·1145601-06	BASE BID TOTAL: Temporary Air and Water Pollution, Soil Erosion, and Siltation Control	Supplier Product Code:	First Offer - \$10,114.83	1 / lump sum	\$10,114.83	Y
253-1145601-07	BASE BID TOTAL: Asphalt Milling/Removal	Supplier Product Code:	First Offer - \$0.89	8311 / square yard	\$7,396.79	Y
253-1145601-08	BASE BID TOTAL: Clearing and Grubbing	Supplier Product Code:	First Offer · \$3,201.10	3.7 / acre	\$11,844.07	Y
253-1145601-09	BASE BID TOTAL: Unclassified Excavation	Supplier Product Code:	First Offer · \$67.10	1139 / cubic yard	\$76,426.90	Y
253-1145601-10	BASE BID TOTAL: 12 inch Thick Stabilized Subgrade	Supplier Product Code:	First Offer · \$10.07	8228 / square yard	\$82,855.96	Y
253-1145601-11	BASE BID TOTAL: 8 inch Thick Lime Rock Base Course	Supplier Product Code:	First Offer · \$10.25	7427 / square yard	\$76,126.75	Y
253-1145601-12	BASE BID TOTAL: Bituminous Prime Coat	Supplier Product Code:	First Offer - \$3.85	1170 / gallon	\$4,504.50	Υ
253-1145601-13	BASE BID TOTAL: 1-1/2 inch Type S·I Asphalt Course	Supplier Product Code:	First Offer - \$153.50	557 / ton	\$85,499.50	Y

p. 17

253-1145601-14	BASE BID TOTAL: Hydroseeding	Supplier Product Code:	First Offer - \$0.58	21000 / square yard	\$12,180.00	Y
253-1145601-15	BASE BID TOTAL: Irrigation	Supplier Product Code:	First Offer - \$11,244.70	1 / lump sum	\$11,244.70	Y
253·1145601-16	BASE BID TOTAL: Permanent Airfield Painting with Type III Glass Beads (Yellow Paint)	Supplier Product Code:	First Offer - \$9.38	80 / square foot	\$750.40	Y
253-1145601-17	BASE BID TOTAL: Permanent Airfield Painting with No Glass Beads (Black Paint)	Supplier Product Code:	First Offer - \$3.75	200 / square foot	\$750.00	Y
253·1145601-18	BASE BID TOTAL: Temporary Airfield Painting with No Glass Beads (Yellow Paint)	Supplier Product Code:	First Offer - \$4.69	80 / square foot	\$375.20	Y
253·1145601-19	BASE BID TOTAL: Six inch White Thermoplastic Striping, Permanent	Supplier Product Code:	First Offer - \$0.97	7300 / linear foot	\$7,081.00	Y
253-1145601-20	BASE BID TOTAL: Six-inch White Striping, Temporary	Supplier Product Code:	First Offer - \$0.45	7300 / linear foot	\$3,285.00	Y
253-1145601-21	BASE BID TOTAL: Post Mounted Signs	Supplier Product Code:	First Offer - \$577.20	4 / each	\$2,308.80	Y
253-1145601-22	BASE BID TOTAL: Intercept existing circuit conductors	Supplier Product Code:	First Offer · \$1,850.00	1 / lump sum	\$1,850.00	Y
253-1145601-23	BASE BID TOTAL: Remove existing base can	Supplier Product Code:	First Offer · \$1,130.00	1 / each	\$1,130.00	Y
253-1145601-24	BASE BID TOTAL: Temporary wiring	Supplier Product Code:	First Offer · \$1,912.00	1 / lump sum	\$1,912.00	Y
253-1145601-25	BASE BID TOTAL: L-852T LED flush mounted taxiway edgelight	Supplier Product Code:	First Offer · \$4,847.60	1 / each	\$4,847.60	Y
253-1145601-26	BASE BID TOTAL: Reflective Pavement Markers	Supplier Product Code:	First Offer - \$7.50	150 / each	\$1,125.00	Y
				Lot Total	\$449,125.00	

p. 18

JMS Construction Services

Item: BASE BID TOTAL:Surety/Performance and Payment Bond

Attachments

JMS Bid Bond.pdf